12013, <m_.=o_m Maintenance

FL-6 Tires - B - -
|Company parts/svcs | T - B ] I
DATE Purchased From: | Part#/Description ~ WORK PERFORMED |cosT
1/8/13|Shop - all fluids checked & qounma off, heater switch installed, fully greased and interior cleaned i ]
1/8/13| Titan Macinery 84169306 replaced cab heater temp control B ~ $12.80
| 1/14/13|Titan Macinery Filters 84412164 Fuel, 84228510 Eng, 8605140 Air, 87712194 Cab ~ $134.88|
1/14/13 | Extreme Truck outfitters 288271 Deflecta Sheild Part N  $348.71]
~__1/15/13|Titan Macinery Filters 84491498 Hyd A 13 filter—-replaced transmission filter - $73.20
1/18/13 | Titan Macinery __ Filters IE Hyd 84476010 replaced hydraulic filters _ $100. 02]
~ 1/23/13]Homax 13200-55 replaced coolant $67.95|
Titan Macinery ] 87478435 replaced heater control valve | o - $ 153.91]
| 1/29/13Shop Alannoton VM |nuts/bolts/washers (2) 5/16*18/3 bolts 99637, (4) 5/16 x 18 nuts 99781, (8) 3/8 washers 9957 O
__2/22/13 Titan Macinery 84412164 Filter 250 HOUR SERVICE $27.80
o - | 84170818 water seperator ]
- | B 84228510 oil filter - $ 23.03
- N ] ] 8605139 air filter |
- i B 8605140 inner air filter  $35.93]
) il 02382-120 ‘GREASE 2 Ibs -  $7.75]
- .w - 052955-1 15W40 oil 4 gallons - S  $37.34
- e  lAw32. hyd oil 2 gallons 1055928-5 3 o ]
~ 3/20/13]! mﬁoox o I ‘Windsheild washer hose repaired 25 - $1.56
~ 4/10/13|Titan Macinery B 87350055 Switch o - §$18. 59
4/12113|NAPA « 7308:paint for chains 1can ) o
Barnes 99176 3/4"bolt  replaced botl in fork attachment $ 1.51)
o | o 20" 3/8 chain o - .
4/22/13 Snow dist 02382-120 Grease Greased - - %774
| 4/29/13,Barnes? nuts bolts washers  |1/4bolt 40031 W 2 washers and nuts, 1/8 bolt 4008 |
“A\\mo:w 1715-1051 1/4 grease zer - I
5/28/13 Titan Macinery Filters 250 hour service o - $0.00
- b 84412164 - $27.79
““““ L - 84170818 e - ) ~ $23.10
- ! 84228510 o e ~$23.03
- Homax 11052955-1 15W40 oil - ~$35.80
‘Snow dsit _02382-120 grease __$968
- ~washer fluid 1/2gal ! -
_ 6/24/13 Snow dsit _102382-120 Grease Greased ) ‘ 5 $7.74
~ Titan Machinery - 76303266 replaced driver side mirror bracket purchesed 10/15/2012 ~ $162.10
717113 Sams_ _Glass cleaner | $2.00




| 8/5/13 Snow dsit ~.02382-120 Greased - o 2040 $7.74
8/6/13. TDS - rotated and filled tires o 2041 $329.18
| 8/21/13[Snowdsit omumN 120 :Greased - 2067  $7.74]
- | D&H welding - ‘M‘L A_.mmm@:kmmmc__o hard line - L
o IHomax 1055928-5 Hyd oil filled hydraulic tank 2.5 Gal _ . $55.39
B | S 21449 clamp - ~ ~
. onons; - - |BT2S-CO BART TIE o I R
9/23/13 Homax 115W40 oil 250 hour service - o m‘_mA ~ $36.52
. Snow dsit grease Greased ) %774
i ~ (Titan  84170818/84412164/84228488 FILTERS - $76.64
| ‘ 76048601 wiper replaced front windsheild wiper 1 %11974
NAPA 7051021 clamp replaced heater ducting B - $273
| - |TITAN 187712194 filter replaced cab air filter ) 1 1 $48.21
o ~ Vernal 8605139 filter replaced outer air filter used L
o 'Homax “hyd oil 1055928-5 hyd oil [filled hyd tank ) ] %1682
'NAPA :091314 brakleen ~ [cleaned rotar/caliper on parking brake o $ 2.83]
| 11/1014 nut buster 1 can ) o R
I ~ window cleaner - ,.fumal - o S o
~12/9/13,Barnes o 998193 7.5AFuse |replaced fuse for engine cover motor T 1 %085




2014|Vehicle Maintenance VIN #
FL-6 Tires
Company parts/svcs
DATE Purchased From: Part#/Description WORK PERFORMED HOURS [COST
1/24/14|HOMAX 156W40 oil 1052955-1 200 hour Service 14 qt 2533] $37.52
Snow Distributing 02382-120 Greased Truck $11.61
Titan Machinery 84228488 filter $23.86
Titan Machinery 84348882 filter $ 29.54
Barnes 99781 5/16 Nut Repair arm rest $0.03
Titan Machinery 84412164 filter $27.79
Barnes 99761 5/16 washer $0.10
2/5/14|Barnes 998193 fuse replaced fuse for engine cover $0.71
Fleet Pride 8025-12 added power service 911 to gelled fuel 2 gt $19.00
2119114 NAPA Emblem 430 $13.64
3/6/14|Barnes ¢703059 5/16 bolt repaired threads in cab air filter and $0.28
99721 lock washer instalied new hardware $0.12
99741 flat washer $0.10
33831 screw repaired tool box hinge $0.42
99002 bolt installed slowing moving vehicle placard $0.18
99740 washer $0.06
32574 washer $0.34
34272 nyloc $0.04
7352 shell fabricated wiring harnes for hood acutator $0.91
kp86912 terminal $0.99
KP81235 seal $ 0.51
Fleet Pride 47406 100 loom $3.00
Barnes 422288 blue wire $2.00
23449 red wire replaced hand witch and wiring $2.00
311114 peterbilt cn27250 terminal $7.40
p20-1178 conector switch $17.82
16-091227b3gmn2d31  |200 hour service $65.44
3/25/14| Snow Distributing 02382-120 grease 2714 $7.74
Homax 1052955-1 15W40 ol $37.76
Titan Machinery 8422848 $23.86
84348882 $ 2954
84412164 $27.79
3/19/14|wear parts ? Parts $5.02
4/10/14| Titan Machinery 8602475 jack replaced hood actuator 2790| $743.04
Snow Distributing 02382-120 grease greased loader $7.74




5/19/14| Titan Machinery 76303230 glass replaced glass in right door 2980] $224.70
84228488]200 hr service $23.89
84348882|fuel filter $ 29.66
84412164 $27.83
HOMAX 1032955-1 15W40 $37.76

Vernal air filter replaced air filter (cleaned)
Snow Distributing 02382-120 grease greased $7.74
Titan Machinery 87312626 relay replaced horn relay $14.70
NAPA tubing replaced washer tubing on rear wiper $0.52
Titan Machinery 76303266 mirror replaced left outside mirror $165.90

tightened connections on lift cylinders
87696241 wiper arm replaced fron wiper $120.75
710043977 wiper blace $ 78.49
86505868 nut $1.74
6/3/14|HOMAX 1055928-5 repaired hydraulic lead and filled hydraulics tank 3000] $83.80
6/11/14| Snow Distributing 02382-029 greased loader $4.68
6/24/14| Snow Distributing 02382-029 greased loader 3091 $7.74
repaired front wiper

7/10/14|HOMAX 1052955-1 15W40 ol 200 hour service 3165 $44.60
Titan Machinery 8605139 air filter $71.93
87712194 cab filter $48.30
84228488 oil filter $23.89
84348882 fuel filter $ 29.66
84412164 fuel filter $27.83
Snow Distributing 02382-120 grease greased $7.74
sams club 959877 wash fluid filled resevoir $1.97
8/12/14Snow Distributing 02382-120 greased loader 3330 $7.74
8/19/14|Homax 1052955-1 15W40 oil 200 hour service 3362| $35.68
Snow Distributing 02382-120 grease $7.74
Titan Machinery 84228488 oil filter $24.15
Titan Machinery 84348882 fuel filter $29.93
84412164 FF $28.09
87212194 cab filter $48.30
8605129 AF $71.93
8/27/14[Barnes 6221-1156 bulb replaced brake light bulb 3370 $0.27
9/18/14|Snow Distributing 02382-120 grease greased 3484 $7.74
9/26/14{Titan Machinery 84412164(200 hr service 3539 $28.09
84348882 $29.92
84228488 $24.15
Snow Distributing 02382-120 grease $7.74

Homax

1052955-1 15W40 oil




9/27/14 | Peterbilt 16091227b3gn2d31 replaced switch for hood actuator $67.40

Class C solutions 6221 1156 bulb replaced brake light bulb $0.26

10/6/14 | Peterbilt 16091227B3Gmn-2031 |[replaced hood actuator switch $67.40
10/10/14{ Titan Machinery replaced hood actuator 3542|warranty

10/14/14{Class C solutions 38217 cotter pin chain repair $0.04

sams club 959877 wash er fluid filed windsheild washer res $1.97

11/12/14 | wear parts 16MMbolts replaced bolts in hood actuator brackets $6.24

NAPA 16MMTAP repaired threads in hood actuator bracket $8.70

Fleet Pride 413 hook replaced cross chain hook on tire chain $3.65

12/1/14|HOMAX 1052955-1 15WA40 oil 2000 HR service 3788} $35.68

Snow Distributing 02382-120 grease $11.61

Titan Machinery 84412164 ff $28.09

84348882 ff $29.93

84228488 of $24.15

class c¢ solutions 6221 1156 bulb replaced right rear turn bulb $0.26

12/22/15|snow dist 02382-120 grease greased loader 3857 $7.74

12/29/14 repaired tire chains

12/31/14|class c solutions 998192 5 amp fuse spare fuses $1.42

998193 7.5 amp fues $1.42

998194 10 amp fuse $1.42

998195 15 amp fuse $213




2015|Vehicle Maintenance VIN # N7F200782 year end
4228
FL-6 Tires
Company parts/svcs
DATE Purchased From: Part#/Description WORK PERFORMED HOURS |COST
1/5/15] Titan Machinery 504034215 fuel line replaced fuel line 3958 $49.03
1/9/15{HOMAX 1055298-5 4w30 filled hydraulic tank $47.12
1/12/15]D&H welding repaired cracked hydraulic line 4020
Titan Machinery 84412164 fuel filter 200 hr sevice $28.09
84348882 fuel filter $29.93
84228488 oil filter $24.15
HOMAX 1052955-1 15W40 $ 35.68
1/20/15[Snow Dist 02382-120 grease $7.74
Titan Machinery 410939A1 bulbg replaced brake/turn bulbs $17.64
1/26/15| Titan Machinery High Fuel Pressure Code [new sensor $881.15
2/2/15|Bowden Welding cut off old eyes on forks |clean ujp and wend new $ 585.00
century equip,emt fork eyes $ 560.92
2/19/15|HOMAX 1052955-1 15W40 200 Hour Service 4209 $35.68
Snow Dist 02382-120 Grease $7.74
Titan Machinery 84412164 fuel filter oil clean service done per Monty on SEPT VM LOG $28.09
84348882 fuel filter $29.93
84228488 oil filter $24.15
Titan Machinery 76303230 glass $ 22470
Homax 3200-55 coolant spare coolant for loader $729
2/20/15|century equip,emt cas 87715377 park brake pads $ 408.10
3/4/15{century equip,emt replaced park brake pads and adjusted
fleetpride 05089 brakleen $7.80
3/120/15INAPA 913 hardener repaired crack in hood $3.14
Sutherlands sanding blocks $26.29
9/30/15 test antifreeze -40F, check fluids 4224.19
11/21/15|fleetpride 8491025-12 PS fuel treatment $345




2019 Vehicle Maintenance VIN # N7F200782
start
FL-6 Tires
end
Company parts/svcs

DATE Purchased From: Part#/Description WORK PERFORMED HOURS [COST

8-Oct anti-freeze test -60 degree

5-Nov Napa Mac White lithium lubed extended booms on for lift $22.76




2020

Vehicle Maintenance

VIN # N7F200782

start
FL-6 Tires
end
Company parts/svcs
DATE Purchased From: Part#/Description WORK PERFORMED HOURS |COST
4/23/20]AMS Construction 238270A1 NEW SHIFTER $ 530.00
4/23/20 Batteries 2 new installed 4521




